


_ (v) Name the Ahom king to whom the earliest Ahom coiﬁ's_ discovered
1.  Answer the following questions . - 1x12=12 ' _ R W __
. . : so far belonged. _ : R e 1

. @ 2 g | 3 I . % ‘I s : 5 i sl g }
AR e s g e 2 T ST e S T e
(i) Name one of the grains found at Harappan sites. = P!

(vi) Who was Pelsaert ? ' gl e : Ve

_@mwmm@aﬁawwﬁw s

(i)  Who was the court poet of Gupta Emperor Samudragupta? ik s 4 S T s
L _ . (vii) Name the first dynasty of the Vijaynagara empire. .

@; e e ._ TR YN0l e i Bl
(i) Name the famous Sanskrit text written by Shudraka. 1 _' osit) What Was_pesmsh? - e L
T WR A [ FKES e A - . comRafEr

(iv)  Mention any:one of the five vows taken by the Jaina monks and nuns. - : % (ix) In -Whi_ph yéar did the British gove_rnmént.ab.o_lish-the custom olf Sati ?
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(x)  Who was the political mentor of Mahatma Gandhj ? | 1

1) Name the place where the Muslim Leagﬁe was ﬂoalted b 1.

(T TS JRIoT A1 iore vafes |

(xi) Which member of the Constituent Assembly intro.ducec.l the

Ob]ectwes Resolutlon ?

W\ﬁ’ﬂ'ﬂ SR (e i3 Wﬁ‘m&ﬁ WI@RT (Objectwes Resolution) CBT

@“anvm FRfere
2 Answer the followmg questlons in brlef ( trmy twelve ) 2><12=24'

BEGIRG aw:m F?l @w ﬁm ( fﬁmm e )

(1) What metals dzd the Harappans procure from Khetrl region of '
Ra}asthan and South India ? . oE
Wﬁw&a%%ﬁ%mﬁm@ﬁaﬁwﬁs%
AP e SR o

SOWHIST 5 ...--[.4'] :

1

J (i) Name the present Indian state where the Sudarshana lake is located.
‘Who rebuilt it? e = =

WWW mw'@a@awmﬁwﬂm_m el

SRl
(iii) DefingExogamQ aﬁd Pbli/andry. o . - - 2
| 2 wﬂ% 22l m@r | -
(iv) Mention &ny. Fivo main teachings of Buddhlsm . ' : . e

TS 8 A 15 5 o S
(U_). Who V\}a_s. qugiha'r_.Konwa.r ? Name ong of his fﬁ}l_l_ow rebels. 0
(vi) What is __S__hari‘-ha.? M(?nfion any :one._ of %ts bases. '. - | L 20

e A e B e a5 o T S v
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(vii) Mention two new features of temple architecture developed in the

(viii) Name any two Sufi Saints of Medieval India. - v

Vij'aynagara empire. taln ' 2

WHNWW—WWQWW Zﬂﬁ@ﬁﬁﬂm@@ﬂ

W i

TR S A 775 B T Wwﬁm:

(ix) Give two examples of village artisans in India dur:'mg the 16th and

o 17th centuries. . g : - Saol

(x)

(xi)

) -_Setﬂement . e 3 _ i s
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| Wwvf@m*ﬁ:ﬁ@mm&m—wmﬁww EACIERR|
-zt

What were the two kmds of the postal systems in India accordmg to
Ibn Batuta g e . G 2

w@@awwmwmmﬁs%wa

Mention two causes why the zamindars uutlally falled to pay the

land revenue regularly to East India Company as per the Permanent

WWWWW@W Wﬁaﬁﬂﬁﬂﬁaﬂ

'_@WW&W%&@W@@HW zﬁrawr@(.ﬁaan

[6]

(xit) .Give fwo reasons why the Salt March Was_considered to be notable.

4

>
(@il et o ey 31 Resfos Cefeet o 75y e et
' ..(x'iii) Mention two members of Cabinet Mission. ' 2
(xiv) Write fwo characteristics of the Indian LConstitution_; : 2
oS Hefuia 7o iRy fovai
- (xv) .Defirie_'Wh_it.e Town ahd Black Town 2
(RSO S A I QA ¢
Answer the followin'g'qu.e'stions : (any ten) 4x10=40
ﬁaﬁﬁ— e W@@a Tl (ﬁmﬂrﬂsﬁr)
@ EXpiaih thé'pa&er’n of domestic architecture of Mohenjodaro. .
G 52 ZAGTA AT A T T
SRS © i (71 - Contd.



(i1)

Give a historical outline of Pataliputra. . 4
WhICh Smriti laid down the duties of the chandalas ? What were the'

(ﬁ'i)

(iv)

©)

(vi)

. (vu)

30T HIST

duties of a chandala according to the text? 4

@ e .*ﬂ@? Bemmm .<1=\§<U ﬁ&f’m & ﬁ%{??ﬂ? ﬁw a0

Write about the features of the Palk system o S 4

Wewhﬁ%ﬂwﬁﬂmﬁw

Write brleﬂy about the peasant movements in Assam in the latter
half of the 19th century e _ e 4
WW@WWa—ﬂ\aﬁemmmsﬂm
fovat |

Wirite & niote on KitabulHind, -~ . = » 0 o0 iy

e e o o G

Explam the rehglous practlces of the ngayats. L .

%Wm ﬁl‘a%ﬁ Wwwl

=18l

(viii) How dird Abu’l Fazl give an account of Akbar’s darbar ? ’ e
* .(ix) What was ‘Damin-i-Koh' ? HQW was it .devel_o_ped ? o - 1+3=4
@Tﬁﬂ-ﬁ*@’{’ & wifze e e @Y@?ﬂs 51113‘ o Tl |
. (x) Dlscuss abou*elthe_ causes of the'ReVDlt ef 1857.. _ '1+3=4 '
: weaWWﬁﬁWWWl

(xi) How did ﬁe India;ls carry out the 'progxa'mmes of the Quit India

Movement 2 : 4

—mﬂzw—s-wewmmmﬁ‘ﬁww?

. (xn) Mentlon fow’ mature I—Iarappan s1tes along with the name of the

states Whlch fall w1th1n the map of the present Indlan terrltones

143=4
wwﬁwﬁ THET THY cﬂmmmtﬁs‘ml_-
WWWWWWL |

B | e
SOTHIST « o U



- G oy ;
i< s@vm M 7RST arvea SifRa o
4. When ang
Whose i
reign the Captam Welsh expedition took pj
Assam ? What we . e
re the historica] im
mportance of the ex
. . | pedition ? 2+4¢
| TERTS (R o1t oy o © R e
(TR Spy ST wve & B Silfeay 2 '
Or/ gregt |
When and betwee . .
n Yand
whom the freaty of Yandapog was signed ? Dj
: | ._ ¢ Discuss
e historica] Importance of the treaty of Yandap
ndaboo
_ 2+4=¢
= WW@%W?@%?W@W%
: | S =y | &
5. Who was Alb |
| __ €runi ? Write a short note |
e ! ote on Alberun;j I
ST} ._ CHEG Wﬁa@waﬁwmm@w
|

' Or_/-W?T.

‘Who .was Ibn Batut:a_? Briefly discuss about Ibn Batuta’s accounts on India.

1+5=6

S @S 23 A6 BTl (R Boies «ff Y Sl |

6. (1) - “Fort St. George became the nucleus of the White Town where most

of the Europeans lived. Walls and bastions_ made this a distinct
encla.w.e. Colour and religion determined who was allowed -fo live
:withi_n the fort. The Company did hpf pérmit any.mafr.ia.ge_s with

. Ilndian's._. Other than the English, the Du‘tch and Port’ugese were
allowed to stay here because they were European and Christian. The

* administrative and judicial systems eﬂso favoured e whib -

popuiatiéﬁ. De.s_pite. beiﬁg few in n_umbefs '.'the'Europea.ns. were -_the
rulers and the development of Madras fo]_lqwed the needs and

_com’zeﬁi'énce of the ll.nin_or_ity in the town"”. -

(1) _ Who Were.in'l majd‘rity in_ M-adras 2 : | . i . 1
(ii) . What were thé mam Base’é t'Q.I'ive _at.FQrf- St.‘_Geérge? - ki
(iii) ; I—Iow did fhe praét_ic:eé i.n.'Macllras_reﬂect racial discriminatioﬁ in

favour of the white population o S _ 3

sorust - ' L e T oo Confdy ;



0 Wﬂ?ﬂﬁ#ﬁ%ﬁm@mwﬁ -
i) @WWWWQW%%%WQ

G WWWWWW@?WWWWD%? Sigu |
aﬁm{ﬂﬁ%ﬁ%{

_”[121

®)

Or/&q
“From the mid eighteenth century, there was a new phase of change. :
Commerical centres such as Surat Masuhpatanam and Dhaka,

wh1ch had grown in the seventeenth century, _dechned when trade

_sh1fted to other places. As the British gradually acqun‘ed political

control after the Battle of_ Plassey in 1757, and the trade of the

~ English East India Company expanded, colonial port cities such as

© 30T HIST -

Madrés, Calcutta and Bombay rapidly emerged as the new economic
capitals'. They also .becar_ne centres of colonial adrfﬁn_is’tr-atidn and
mil.itary_ ‘power. New buildings and institutions developed, and |
urban spaces. were erdered in new ways. Ne{v occupations
cleveloped and people ﬂocked to these colonial cities. By about 1800
they were the blggest c1t1es in Indla in terms of populatmn

(i) Why did the cefnmercia_l centres. deCline which grew in the

seventeenth century ? 1

(ii) What were the causes of the emergence of the new economic

capitals ? 2
(i) What were the characters of the newly e.merged cities ? 5
. . Contd.

[15]



7. Answer the following questions : : | 6
fEle et W ra g
(#) Draw a map of India and identi_fy the Iocations of the following

(b)

| | 30T HIST

major Bu‘ddhist sites : Sarnath, Amare;vati and Sanchi.

W@%Wﬁ@@%@@ﬁ@ﬁﬂ%:%ﬂ,%ﬁ@m

Or/9edq

‘Draw a map of India and identify the locations of any thme-'great

Mahajanapadas. : : 3+3=6

WA G2 T ST T R R SN FRGHATE (SN

g e Hrle 4|
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: Total number of .pages - 16
30T ECON '

2020
ECONOMICS
Full Marks : 100
Pass Marks : 30
- Time : Three hours
: The fzgures in the margin indicate full marks
for the questions.
PART-A (F-9iod)
Q. No‘.- 1 _(a ~f) carries 1 mark eaéh : 1><I6 = 6
Q. No.2-7 carries 2 marks each ; exEa 1)
Q. No. 8 -12 carries 4 marks each . 4x5=20.
" Q. No. 13 & 14 carries 6 marks each : 6x2 =12
Total = 50
PART-B (% - W"“T)
Q. No. 15 (a - f) carries 1 mark each & oalsaes 6
Q. No. 16 - 21 carries 2 marks each . 2x6 = 12
Q. No. 22 -26 carries 4 marks each . b )
Q. No. 27 & 28 carries 6 marks each .~ 6x2=12
o ' - o Total = 50

Total (PART A & B): 50+ 50 =100

Contd.



PART-A / -sgs| P | | | .
/ : i ; : ' (¢) In a centrally planned economy, which of the following takes all
. () What does a Production Possibility Curve indicate? =~ ' 1 economic decisions ? : = 1

Best ey ’ - e
@‘zn?ﬁ?ﬁwi IR (i) Central Bank

(b) If an incr - .
ease in the prlce of good X increases the demand for good (if) Market

Y, then how the two goods are related ? ; 1 i :
IMZ X 999 v qf%—m ' (iii) Government
; Y &9 vifzwt gf% Eoe] :
e 2 COT8 w3y WOl & «@weies s .
e (w) Both Government and Central Banl( :

W@WW@FQWWWWWW

(c) Total Variable Cost (TVC) will be i when t(;tal product i
—_— uct 1s

zero. ; _ : .
5 Seaii =y el - .
- | SRS, AT =] :(i) @ﬂ AT
| _ (3T} 2 W[ e () <T@
(@) A firm earns normal profit when — : ' -
o | _ 1 as (iii) 5T
@) AR AC | i . s
' () AR=AC e - ' (v) FEH @ AE IR T
(iii) AR < AC ' ; G S e : : - Fin :
i - : = : () What are the shapes of AR and' MR curve for a firm under non-
_ (tv) MR =MC G - e :
| - (Choose the correct answer) ‘ competltlve ‘market structure ? 1
9% AfeDE T
F”"WQWNWT—_ w%aﬁmﬁ@aww mmmwwmﬁiﬁm
()  AR> A
s @R Y (PRI 5 -
(i) AR= A_C
(i) _ ARZAC - _ : : o Mentlon two reasons that give rise to economlc problems.
() MR=MC = |
. - (9% Tewcht AR Cfvedy) s WWW@@@M@W%WW|

30TECON el i - L | . .
- : e i e S0LECON i gs) Contd.



3.

What is a budget line ? Why does it slope downward ? l+1=2

A @ e @B @241 v B frmende

If a unit tax is imposed, how does it impact the short

a firm ? Show with the help of diagram.

-run supply curve of

2

MR T 9 W@ T4 5w, mﬁaﬁmmﬁmmwm'

SIclic awﬁ—aﬁa?ﬁaaw MY SL |

What is break-ev

even pomt of a firm ? At which point of the AC curve, a

firm under perfect competition breaks-even ?- 1+1=2

ﬁmawwwwwﬁﬁﬁwﬁc{aﬁmﬁﬁawﬁ ﬁ%ﬂﬂﬂm% -

- Wﬁﬂﬁ@mﬁww—wﬁw eﬁ@?ﬁ@'?

6.

What is a mon0pohst1c compet1t1ve market ?

Discuss four features of 1nd1fference curve.

What does price elasticity of supply rﬁean ? Bfieﬂy explain. 2

RN 7 et e qmiz e

_aﬂmﬁaﬂa Mﬁﬁwa@mﬁ &fﬁmﬁww%P :

ﬁaz«»rw [ wﬁﬁ’r Zaﬁfa]wﬁﬁmwl

30TECON - [4]
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these
Deflne and draw average cost and average vanable cost curve. Why

3+1 4
two curves can’t touch each other_.?

meﬁﬁﬁaﬁﬂw_ﬂéwmw@m@ﬁmw@qu|

OR/@%A

: : . ; ety 3 f

The Total Cost (TC) schedule of a production unit is given below. Find ou |

; ¢ _ | ;
TFC, TVC, AC and MC. | o ;

4Gt BT CW‘@W.(TC)WW fazl 2=l ﬂjﬁam (’];“FQ,‘{[_?S
ﬂﬁa@%ﬁa ¥ (TVC), T I (AC) IS e T (MC) i1 i S}

Quantity Produced : : TC
s sl |

. | o

_ _.1. i . _4.0 _

2 | : 60

3 80
kb o
5 ek 6 0
6 '  ; ' '_130 '

2 _  160

ey .. i Contd.



10. Mention four diffe . .
ntic rences between perfect competiti
e | _ petition and monopol
y I
At ﬁi%?‘“’.gl\'ﬁfd TR O OO & 515 ANk B
11. Th |
. e demand and supply functlons of a commodity is given b
Qd = 100 2P .

Qs =2P - 60
Find : :
(i  Equilibrium price

( z'1) Equilibrium -quanﬁ.ty..

W@Wﬂﬁﬂwmﬁmwﬁmm‘
- Qa=100-2P

Q,=2P-60
@) WWW

i) S ol AR e
OR/ e

Expl
plain with the help of a d1agram how shlftmg of the supply c f
urve
com.modlty affects its equ1l1br1um Pprice and output. -
W GO G “H?ﬁa}
[ B TR © I r“s‘wzm ﬁﬁ:ﬁ‘ﬁﬁ (AT
- geiffS I %ea ﬂb:w@ TR :

. 30TECON .[6]'

3+1=4 . 13.

What do you understand by returns to a scale ? Write the meaning of

~ constant, increasing and decreasmg returns to scale : 1+3=4

Waﬁmq&ﬁﬁsqmﬂw WWWWWWW -
Bl
OR/W

State the reasons behind the working of the law of dummshmg margmal =

product. - e o2 4

PR Sl Bestivm Rt PR i

State and explain the law of demand with the help of an '.imaginary _ i

schedule and diagram. : ' ' 6

.mﬁmmwamwﬁamw@w@mmww _

= =4

OR/ @4at

Calculate pfice elasticity of demand by expenditure method :

() If an increase in pric'e' from Rs. 10 to Rs. 12 per unit lowers quantity
demanded from 25 units to 20 units. |
(i) If an increase in price per unit from Rs. 8 to Rs. 10 lowers quantity
~ demanded from 20 'to 16 units. ' 5 '

(i) lfa decrease in prxce from Rs. 12 to Rs. 8 per unit increases quantity

demanded from 20 to 28 units. . ADEOHDEG

e e 171 - o  Contd.



(@)
"HT 20 GpPCST ZPT 7 |
(11)
; o[ 16 GFHET TF oA |
(i) =ifS QWWW 12551 | |
G5! 8 Wﬁr PN
- Bﬁi‘m 20-3 11 28 nﬂzﬁaﬁa
U e
- (- Total Product (TP)
(i)) - Average Product (AP)

(i) Marginal Product (MP)

._Explam the relatlon between AP and MP with the help of suitabl
dlagr@ | 1+1+1+3==:
e Bl ¢ .
.(z‘) ?ﬁ'.@@\w .
i) ST @QW

(i) EET TeoAwra |
w@wma@@wmew@hww@

SOT ECON 18]

ﬁﬁﬁwww w%amwu%zﬁﬁwf%q’camﬁmﬁﬁwzmm'

ﬁWWWSWWIOWﬁQEWﬁﬁﬁﬁmﬂW.

()

OR/ %4l

What is production function ? L : sedhil 1

- TV T T GIGE

(i)

- (i)

What do you mean by fixed factor and variable factor of prbduction e

Give examples. ' i g 2

Besiiw i TetiA o ARG ot P B qal? SR

The production function of a firm is giveﬁ by Q=2L%K2%
Find out the maximum possible output that the firm can__produce '

with 5 units of L and 2 units of K. What is the maximum p0531b1e

output the flrm can produce with zero (0) units of o and 10 umts

e . | =

ﬁmwmm aﬁ%ﬁa@wmw Q =2L2K2|

5 G5 L O 2 9FF K-awﬁmmwwﬁmﬂmnﬁm@wm_

aﬂ%a 2" 2 %D (0) 455 L oI 10 935 K.awa%%mweaw_
mmﬁaﬁmﬁsﬂﬁim_ |

30T ECON ' - (o1 ' ; ' . Contd.



PAR'I'—B VA B
15, i | ' | .. .
(a) W_hat. 1s the relation between MPC and MPS | |
MP ?
MPC 9% MPS-3 S1em srof el . 1

(b) What is investment ? ' :
: 1

s e

. (¢ What do ' .
you mean by ‘velocity of citculation’ of money ?. '
TR eoerm aifSran’ 3fet & e
@ Who is ' '
0 is known as the ‘lender of last resort’ ? ' |
. : 2 1

o TR SIS 3 S o e

(€) ~What is government budget ? | .
5T AT e i
) In 1 . | |
. - which year GST came into effect in India ?
2 .. s . 1

. S . (9 B ﬂﬁT(EST‘ﬁﬂaqzﬁthsci?

.

Ca-pi-tal goods ? : :
- ' 1+1=2
Wﬁi
Wﬂﬁw%mwmﬁfwﬁm Wﬁww
"i%‘?

SOTECON e :
e [10]

plier ? If Rs. 200 crore increase in investment

then what wﬂl be the value of mvestment

17. What is investmen_t' multi
increases income by Rs. 800 crore,
' i 1+1 2

multlpher ?

A @cﬁsﬁswﬁ@:zoo @T\%Wﬁﬁtﬂlﬁ?ﬁﬂﬂw 800 wﬁ%@qﬁam
cots Rt worsq Wi el = | :

_ante investment and ex-post investment.

18. Write the differences between ex
_ : e
areRe REGE O e (o) RN o Bl
19. Mention two points of superiority of Selective Credit Measures ov'er

Quantitative Cred_it Control Measures.

Wﬁé’m w‘lﬁmﬁﬁﬂﬂzﬁf qerbor fl

offRmeere 44l e
TrEr
te two différencés between revenue expenditure and capital expenditure.

20. Wn
wmmwﬁww zﬁ‘r ool Bl

21. Whét do you mean by dévaiuaticm of currency ! ? How does it affect the
| | S 2

import of a country e
wwqﬁﬁ%{mﬂwmﬂﬁm
mﬁ@a—rﬁ@wv -

30T ECON [11] Contd.



22 Defme GDP, Can GDP be used as an index of welfare ofa ceuntry ? Justify
L dyour answer, -

1+3=4
GDP-3 >iggaf f%fzm GDP- (7 ¥ epjlei D A I IR AR 2
ma@mww&f“@wmmv :

23.  How does the central bank use its

quantitative credit control measures to
- control inflationary situation of an economy ?

4
93 SIS TERIRT Sl R < RER @ #if{eire 39 Fxees
wiRAPHR s g wRge |

OR/ 23y
'W_rife a note on ‘demonetisaﬁoﬁ’. : ; _' 4
‘RYERS R s et fora '

24. What is a Deficit Budget ? Why a deficit budget 1s considered beneﬁr:Ial
. than a surplus budget for a developmg economy ?

1+3=4 .
M S 2 SrieT e RS AR AT W W5 B Sy
- oo R ey | s e |
25 M_entton ﬁ}ﬁr differences bet;zveen Direct takee and Indirect taxes i
26'._. (i) ~ What is balance of payment? - . . ' )
| wﬁmaa el e | ce e
(11) What are the two main components of balance of payxﬁent ? 1
vfﬁm« mrwa L oAl 75 52
(m) Wr1te fwo dlfferences between balance of pajrméri_t and balance of
frade. . _ 9
ﬂﬁmwwwwﬁwwﬁvﬁwﬁw ? .

30T ECON

30T ECON'

OR / 9%dl g
. | . 2 2=
Write briefly about :
(i) Open Economy
(i) Exchange Rate.
6 foral 8
@ Ie wﬁf“
i) RFE 2l | d
b Value—adde
lain the procedures of calculating National Income y 5
27, Exp ain
. 34 |
- 7{0{?!1@?1 AR[SS @«ﬂ@:[ﬂ o Aol 9 ﬁ@ﬂiﬁs‘i ﬁﬂ“ﬁiﬁ
Ad
OR / 524!
]?rom the data giveh below calculate :
G GDP at-factor_'_cost
(i) GNP at market price
(iii) NNP at factor cost L .
ion Expenditure e opes
s 1,200 crores
(b) Investment Expenditure . Rs. - ,456 : tmféé
| i Rs. ) crores
: enditure R
(©) Governm?._“t Exp - e
" Export : _.'R's._ __.95'cr0res "
(e) Import _ gl
et fe income from abroad “Rs. - oL .
" "Rs. 90 crores
(g) Indirect taxes RS . _Cmres
) Subsidie'_s‘ _ RS_— e
() Depreciation .
- Contd.
[13] Con



Eﬁ#ﬁﬁ%%ﬁ o g

() TR TS Yo/ FA TR BAWH (GDPyc)

(i) <@l VS I5/% GER B (GNPyyp)

(iii) Soti TS ﬁ@%/a'qs@_ TS BT (NNPFC) sl T |

(a) ‘G‘?rwiﬂ?l]ﬂ
(b R T
o R

.(d)-_ a@fﬁ'f

.aﬂ -vmwﬁﬁﬁ

(0 R o RS Sow s

(9 IR

W @=R

() o

-]
o

oo o0 . oo o0 o0 oo

aa

2000 =it Bl
1,200 :

450

80
95
60
90
80

30

23

EE]

)

bE]

»

2

2

L1 e

”n

e

EE] :

EE]

~ 28. Explain the process of equilibrium income determination of an economy

with the use of aggregate demand and aggregate supply curves.

SRR I i SR e

30T ECON

RIS QT LSS I W fefaeis eifdraret

(14]

e

What is aggregate demand ? Discuss the components of aggregate demand.

OR/ &%

1+5=6

s i Boe T SR SRR SAoA 11
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Total number of pages —16
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ALTERNATIVE ENGLISH

Full Marks : 100

Pass Mérks‘ : 30 |
. Time : Three hours
L figﬁres_ in the margin indicate full marks

for the questions.

( There are three groups — A, B and C. Group A and Group B for New
Syllabus candidate and Group B and Group C for Old Syllabus
candidate. ) : : ' '

@ Group A (Vibgyor) New Syllabus o
®) Group B New & Old Syllabus 15105
'.(c) ' Group C (Effusions) Old Syflabus : SR | 65
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~ GROUP - A
- (VIBGYOR)

(NEW SYLLABUS)

1. Give brief answers to any five of the following : 1x5=5
(a)_ Where did the new vicar corrie'from 7 ‘ =
(la)' At what age_'di_d_ Albert Edward start Working? : | e
(c) Who fell on Narayan’s car when it was parked in front of the
| hospital ? -_ - 0 - i o
(d) In Narayan's opinion, what does he lack ? 1
() What is the name of the driver of Mriganka Babu ? 1
.(;‘). Who did invite Mrtganka Babu to felicitate him ? 1
3) 'WhoaretheMagl? e L i
(h). How much money Della did earn selling her hair ? 1
(i) Why did Robert Lynd read Emerson and Marcus Aurehus ?
_ -
(]')I Who is Socrates o . _ : | = 2 ol
. 'ArrSWer any five of the .folloWin'g B 2x5=10
(a) How d1d the Verger treat his old gown? L 2_ |
'(b) Why did Albert Edward decide to set up a tobacco shop after.
: res1gnmg from the church 2o el
.rSUFALTE 21
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‘3. Give brief answers to any three of the foilow'mg :

(a)

(c)

(e)

30T ALTE

What did make R. K. Narayan fear that he would soon become
bankrupt ? i .- _ : b

Which part of the author’s car could not ordinarily be
replaced ? e = 2

What is an almanac? S e ' el

Why did Mriganka Babu decide never to seek a witch doctor’s

help ? . e ~2

: What was Jim’'s reaetiOn when he returned home ?. 2

- What did Della do to get a gift for ]1m e . 2
Who is Marcus Aurehus ? Pl 0 -

‘What would be the reaction of Robert Lynd if an earthquake
“happens ? _ i 2

4><3 12 '

Descrlbe how d1d Albert Edward prosper. in hrs busmess as

.~ a tobacconist and newsagent. - : 4

®

Why did R. K. Narayan avoid all public engagements and
invitations ? . _ _ - e 4

Descrlbe Mrlganka Babu s reaction after meetmg the

' Scarecrow ' _ ; : : 4

Bring out the _rela'tion between Della and th_e queen of Sheba.

Examine Robert Lynd’s quest for instant wisdom. 4

wp L s



4. Explaln w1th reference to the context on any two of the following :

L

4x2=8
.(a) “] can’t be the only' man as walks along this street and wants
a fag,” he said. ¥ : 4
(b) “For some unknown reason, Mriganka Babu continued to feel
strangely drawn towards that figure.” : . 4
.(c) Within forty minutes her head was covered with tiny, close-
lying curls that made her look wonderfully like a truant
schoolboy. i ' i e
(d) “Idesire wisdom as eagerly as Solomon, but it must be wisdom
that can be obtained with very httle effort — w1sdom, as it
were, that is caught by 1nfectlon it b
5. Give brief answers to any fwe of the followmg 1x5=0 .
' (a)' How many children were listening to the story of Sita? 1
() Who is the poet of the poem ‘Sita’? =~ o 1.:
(c) Whom does the brook want to‘join at the end of its journey ?
(d) Name the blrds that fly above the brook e o
(e) Which country is referred to as ‘an ant1que land = 1
(Hh What was the expressmn on the face of the statue of
Ozymandias ? = : e - .
: (g) Which season is the poem “La Bella_Dame Sans Merci” set
o in ? ' o ' el
30T ALTE 4]

W

()
()

6. Answer a.ny four of the foll?oWing_ .

(@)

®)
©

(d)

(e)

7. Answer Ay three of the following :

(a)

®

30T ALTE

‘Where did the knight see a lily ? ' ' .1

Who will smite the village girl ? . ' S
What did the village girl carry to fetch water? 1

2x4=8
Why are the children weeping in Toru Dutt’s poem':”Sita” ?
2

What does the brook represent? | | 2

Whose greatness is actually glorified in the po'en{ “Ozymandias

of Egypt” ? ' L >
What did the lady do in her et 2
What are the things the Vﬂlage giliisafraid of 7 0 o .2 |

4x3=12

Explam how does the poem ‘Sita’ reflect the poet S deep love

of nature : 4

‘Describe the journey of the brook till it reaches Philip’s farm.

&

What else remalned there besides the broken statue of

Ozymandlas ? What does it mgmfy L ne o

1[5] ; _ . : Conid. |



(1) Give the description of the lady the knight met. 4

(e) Describe the evening scene of the village reflected in the poem

“Village Song”. 4

8. Explain with reference to the context on any one of the following :

5x1=5
(@) But who is this fair lady ? Not in vain
She weeps, — forlo! at every tear she sheds |
Tears from three palrs of young eyes fall amam,
And o in sorrow are the three young heads. 5 '
(D) '_I chatter, chatter, as I flow
To join the brimmer river,
-. For men mey come and men may go,
But I go on forever. <5
(c) _I' miet a lady in the meads,
 Full beautiful — a faery’s child,
Her hair was long, her foot was light,
And her _eyes were wild. ' ' .' e B
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GROUP - B

(NEW & OLD SYLLABUS)

9. | Change any fwe of the sentences given ‘below as per mstruetlon |

7

given, without changing their meaning : e 1x%5=5
’ | (@) No one can escape deStiny. : ~ (Change into affirmative) -
(b) People say that he is a spy. - (Change into passive)
() 1 come here for the last time. ~ (Change into negative)
.I : - | ! ¥ . I 1 .
(d) Can I ever forget you Lo - (Change' into assertive)
1
(¢) As soon as he saw me, he began to Weep
' (Change into negatwe)
(/. The house was blown down. o Chan:ge into active)
| - 1
(8) The beauties of Nature are beyo.nd description. g
- ( Change into mterrogatwe)
(h) Nobody will deny that I am rlght (Change into aﬂirmatme)
: : : 1
10. Add appropnate questmns tags to any fwe of the followmg
Eertis e 1x5=5
(a)l Her garden is very beautiful, ben : e
. 80T ALTE i o Cont.
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() Ridhi has just arrived from school, 1
(c) We will go to Shillong tomorrow, Fus _ 1
(d) No man is immortal, T . | 1
(e) He is stronger th.an his brother, : ; | 1
(f). She acted according to instructioﬁs, | | 1
(g) 1 cannot do it withdut 'you£ hélp, : : Il
(W) He tried G0 ol ik o 1

Fill in any five of the following blanks w1th suitable prepomtwns

1x5=5

(a) 1 credit him good sense. : 1

_(b_) .Tl.riere'éannot' be any corﬁpfémise this issue. | 1

e I afn_ anxious fhe resuit. s o ' .1
(d).. Be.tr_ue'.l.___._'. your word. e o _ - v

(o) 'R.ic'ha prevented”.hir'n SRR il e |
' (f) You may-rely. _ | my word: | | A
(g) He is.sen-ioril me in service.. e ]
(h) We. wondered %'his-i_gnofanée._ e 1
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13.

'(d) He never wanted to know where she

- (h) We

Rewrite any fwe of the following sentences using the verbs given

in brackets in their correct forms : 55 1x5=5
(@) Iron (melt) at a.high tempéréture. - 0 1
() Hle.o it (stu__'dy) in this college for two years; 1
(c) | The boys ______ (play) in the garden when {he tree fell 'down.

1

(c_o_me) from.

i

1

(e) We_ : (.go)' to Kolkata tbmbrrow to attend a séininar. :

: 3 , ;

() They came b_a(I:k home 'af.ter the guests _____ (leéve). 1
(g) .Neer cannot go now as he (féél) .unwell._ o i

| (work) on a new project. i | . | 1

Read the passage given below and answer the _quesfions that
follow: _ '
Depression ar1smg out of environmental factors is called reactive
depression whereas depression arising out of some biochemical
changes in the brain is called endogenous depression. If depression

. is mild or moderate and if the mdlwdual is in touch with his =

surroundings, it is known as neurotic depression. If the individual
is severely disturbed and is not able to comprehend what is

- happening around, such a state is C_alled_ psychotic depression.

SUALTE o o Contd.



Old age is one of the stages of human development, where a pej:son : . _ s GROUP - C

0 attains wisdom, maturity, social and economic stablhty with soc1el : (EPFHSIONS)

recogmtmn and emotional fulfilment. _
_- | (OLD SYLLABUS)
Generally soc1et1es show a great respect and consideration for the . e |
| aged. In ancient times old people were considered as the guiding 14. Answer any five of the following : el ety B
stars in Indian families, since they were symbols of tradition, _ el '

respect, wisdom and experience. In primitive, ancient and medieval _ (a) Who is Alexander the Great? . e 1
cultures, old persons ‘had a recognized social roles. They were of Raid ' i) 2 ' :
great value because they could impart knowledge and skill to (b)_ .Who 3 reterred W apostle of.Hero Yo ¢ -

youngsters. The old people were considered as repositories of (©) Whiat d the two cyclists do? e _ .

wisdom and tradltlons and were not percewed as problems : ; o ' SRy

: : (d) What do you mean by ‘voodo-men’ ? 1

At present social structures and values are undergoing transformatlon : : S b i
from traditional to modern. There is a rapid stride in urbanization and. | (e) Who is Bapu ? el T e s 1

1ndustr1ahzat10n leading to the breaking up of joint families and

(/ Where did Nehru receive Gandﬁi’s short note? i
property. This has ultimately weakened the traditional fam111es, social o | e ST A o
~ position and status of the aged in the family. S . " (g) What is the motto of E. M. Forster? Sapira
(a) What are the d]fferent types of depresston ? o e (h) Who was Erasmus? - e e i
(b) What is pSYChO’ﬂC depress10n i o _ o . (i) When is the be.gmﬁing of scientific technique ? = oL
.(c) What does a person suppose to attam in old age ? _ 2 () Why did Napoleon construct roa 42 - : S
(d) 'What was the attltude of the society towards old age in ane1ent _ - : £V Fateend _ 55 :
rtlmes ? ' Sin i . i 3 , 15, Answer any fwe of the followmg - i : 2><5.=10
(e) HOW. urbanization and industrialization have influenced the ' : (a) What accordlng to Caﬂyle _ 15 the Prerequlslte of a great man ?
social str'u_ctures and values in modern times ? 4 | S G S an m ' 2
e Giv‘e the .adjeetive form of ’wisdem’. ' = 1 = () What is the view of Ambedkar regardmg the greatness of H
' ' e o mlhtary men? ey . 2

(9 Gwe the antonym of pe551m15t1c e - s i
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16.

(c) What are the things R. K. Narayan valued most ? 2

(d) Wh'a’_c impression did the car of R. K. Nar:ayan create among

the auto-pundits ? ' | | 2

(¢) What are the two reasons for Forster’s two cheers for

democracy ? : 2

() What, according to Forster, are the -prerequisites for living in .

~ the present-day Situation . 2

() Why was Nehru tem_pore_rily discharged from the jail? ' 2

(h) What kind of reply did the Magistrate send to Nehru's note ?

(i) Whatis the view of Piaget on reasoning ? : _ -_ L '2

() Why did Chinese Emperors refrain from persecuting the

Jesuits ? Sl e el D

4

Anewer any three of the following : o 4X3=12

(@) What are Lord Rosebery’s views on Napoleon’s greatness ?

a0

(b) What was the opinion of R. K. Narayan about hi_s..'friend'_ who

collected car’s spare parts o T

© Discuss the view of Nehru regardmg the deahng with the

subject of Soc1ahsm _ < iy 4
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(d) Explain w_hat'constitutes real democracy. - 4

(¢) What, according to Russell, are the da.ngers involved in the
- philosophy of ‘Return of Nature’ ? . 4

1 Explam with reference to the context any two of the followmg

4><2 8

(@ “A gr_e-at man must have sincerity. For it-s the sum of all
moral qualities without which no man can be called great.”
Ao

(h) “Since my car was of a special pedigree, it was inadvisable to
allow ay ordinary workshop to open the bonnet.” . _4

) . ”Democracy is not a Beloved Republic really, and never will

be. But it is less hateful than other contemporary forms of
= government and to that extent it deserves our support.” 4

(d) “Clearly the line between scientific and traditional techmque' _
is not a sharp one, and no one can say exactly where one ends

and the other begms Ueabdndy . 1y 4
18, Answer eny ﬁve of the following : SiE AR Mincs
(a) What is meaning of the word clods ' ' e 1
() Who was half asleep? en
(c) | With. whi_ch. the mind i.s compared to in ﬂre-poem ‘_‘Taking
Leave of a Friend” ? - et il
(d) Who is the plolet:_of "Takmg Leave of a Frierrd” ? ' -. 1
() ._ ‘Who .Was weeping ft & dense forebepin 1
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; (g) Give an ex'ample of poet’s use of metaphor in the poem —
“Rickshaw-Wallah”. 3 1
(h) What is ‘tattoo’ ?. - 1
19. Answer any fo.ﬁr of the fol-lowing L . | | _ - 2x4=8
(@) Who is it who come-.;v-vhiSPer.ing by ? ' .. D
(b) What was the man doing in sl.o\w silent walk ? B
(c) Who. are the perséns partihg (A ni ' e 2
() W.hen. does fhe partiﬁg take place ? ; - 2
(&) Why d1d téars flow_ from three pairs of young e.yes e o .2'

() What -happens when the fair lady weeps? 2
(g) .What does the Ric_kShaW—Waliah value most ? | ; -
} (h). - What _dées the_pt)et_'say about the tattoo of -Rickshaﬂv—Wa‘llah ?
20..- Answer aﬁy three of the follbwiﬁg s - ik | | 4x3=h12
(a) _.What are the thing's that -Hard'y regards as peimanent m
human life ? Explain. i _ sl A

(b)

_parting.offriiands? = - 1
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What song does the mother sing ? ' , i 1

How does the pOet bring out the painful experience of _the; |

(c) Describe the effect of mother’s song on the children. '

¢

(d) Bring out the central idea of the poem ”Rickshaw.—_Wallah”. '

4

21. Explain with reference to the context any one of the following :

(a) “Only thin smoke without flame
* From the heaps of Couch-grass ;
Yet this will go onward the same .

Though Dynasties pass.”

(b)) “Here we must make separation
And go out through a thousand

miles of dead grass.”

(c) “Tears from three p.airs of young eyes fall arﬁam,

And bowed in sorrow are the three young heads.”

 30TALTE L sl
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SECTION-A
 (Reading Skill | 10 Marks).

Read the following passage carefully :

The next time you take prmtouts unnecessarily or you '

throw a paper into the bin, think for a minute as to how many

trees have been felled to manufacture somethmg you use so -

often every day.

Can you take out some time from your everyday routine
and devote it to startmg a simple recycling programme at your.

- school or your neighbourhood ? Not only would you save our
planet from the torture of felling greenery, but you would also
reduce generation and dumping of waste into the environment.

Using recycled papers conserves natural resources. As

our worldwide population grows, the strain on these_re_sour'ces '

- becomes even greater. You can drastically reduce the number
of trees cut down for manufacturmg paper. In addition to

' savmg landfill space, you cut down on your expenses of trash-

‘dlsposal There is a reduction in air pollutron caused due to

incineration. Making papers from discards instead of trees not .

only saves forests, but it also reduces energy use by up to
‘three quarters and requires less than half as much water. Items
~ that are made of paper and may be recycled are called the

loose paper, a few examples are paper bags magazmes
newspapers and cardboard egg—trays

30T ENGL S e iy

i paper-recycling pregramme gives a positive image to
large corporations or business organizations. Parents can teach
their children the importance of re'cycl_ed paper by bringing
about simple ehanges in their lifestyle. Schools can also train
students to make paper products like folders, penholders,
material for the display board, lampshades, teaching/learning
aids, etc. Students can creatlvely make their own cards, files,
folders, 1nv1tat10n cards and certificates for the school. Working
on a paper recycling plant demonstrates the concept of -
recycling waste into ‘wealth’. ‘The real success of such
programmes is visible in the seemingly simple acts like students
exchanging books in a new academic session, indirectly saving
paper and thereby, trees. This is amazing that only a single
sheet is saved by each child, 40,000 trees could be saved per

i year by students only.

Learning the facts about recycling paper will help you

~ as you fulfil your part to keep the environment green. If we

keep our minds focused on the des1re to be frlendly to our

~ earthand her resources, recyclmg will become 1mportant After
~a while, we will be in the habit of recyclmg the paper that we

use in the course of a given day.

On the basis of your readmg of the passage, answer the

2 followmg questions :

(a ) Why do you need to thmk before you take prmtouts

nnecessarﬂy 200 o e
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b) Name some of the products that can be obtamed from
recycled paper. | - | 2

(¢) How can parents and schools help in creating awareness

~ about paper recycling ? meta
(d)  How can students help in saving trees indirectly’? 2
(e)  Give a synonym of ‘conserve’. : 1

(.~ Find -a word in the passage which means '”the

_ destruction of somethmg, espec:ally waste matenal by

‘burning”. ' _ | _ o

'SECTION-B
(Advanced Writing Skills : 25 Marks)

You are Gautam / Geeta, General Secretary of Radhekrishnan
: College, GuWahati. Your college is orgarljzmg an educational

trip to Delhi durihg the 'Summef vacations. Write a notice for
~ the college notice board giving all the details of the tr1p

_'(Word Lzmzt 50 words) e S | 5

© 30T ENGL - s [4]

OR

Design a poster in not more than 50 words to create awareness

about the safety measures to be taken during an earthquake.
' 5

A team of twenty students from Japan visited your school as
part of a cultural exchange programme. A special welcome___
assembly was organized for them. Write a report about the |
same in 100-125 words for your school magazine. 10

OR

The students of the local college have organized a campaign '.
on ‘Say no to Plastic’ in your town. Prepare a report in
100-125 words to be published in an English daily. 10 -

You are Rekha / Ramesh of Barpeta. You have seen an -
advertisement for the post of a sports teacher in Lakhimpur
High School. Write a letter to the President of the Managing

~ Committee of the school applying for the post. Give your

detailed bio-data as well. - o 10

- OR

 You are Gaurav / Garima, a resident of Guwahati. Write a
letter to the editor of a local dally expressing your views

'agamst the 1nsens1t1ve use of loudspeal(er during festival. -
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SECTION-~C

(Gmmmar. ¢ 20 Marks)

Change the form of the narration in the following sentences :
' - 2x2=4

(@) Alexander said to Portis;. “How do you desire' to be

treated ?” He answered, “Like a king.”

(b)) The boys exclaimed in joy that they had all passed the

~ * test and that they would celebrate their success the next

Change the voice of aﬁy three of the'fellowing sentences :

1x3=3

@ The nur'se_. is lo.okin.g after thie_ Iitﬂe ;giﬂ. '
(b) Morning ._shows the day. |

(c) i glass _has not Been Ereken by anybedy.
_(d) What causes an eafthQHeke? |
(e) The éround_ hes_.to be cleal-'.ed Ey ﬁs. |

(/  The Governor gave him a reward.

30T ENGL e

Rewrite any five of the following sentences using the verbs

given in brackets in th_eir correct tense forms : . 1x5%5

(@) My brother (practise) law these days..

. .(b) - The patient (die) before the doctor reached. .

(c) You (sleep) when I entered the room. .

(d) She __(ceme) here the day after tomorrow.

(o) They (win) the match,: .

| () We (visit) the Taj Mahal last SIear. iy

Rewrite any four of the following sentences filling in the blanks

- with ap'propfiate preposi_tione Slir e g 1x4=4
(e) . The 'ship is sailing - the shore.
(b Cut.'the"-rop'e _ o kmfe
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| (c) I am taller than you - two inches..
(d) There was a bﬁ..dge the river.
..(.e) We-depend _ y/{_)u._
® . He btegged help from me.
(® I'.-do net believe _ his honesty.

' Rewnte any four of the following sentences as dlrected

1><4—4 ;

(1) Why waste time in this fruitless occupation ?

~ (Make it assertive) |

®) Itis often dlfflcult to speak the truth

(Make it negahve wzthout changmg the meanmg)-_”. .

(c) Belng 111 he could not attend school

(Make it a compound Sentence) :

30TENGL - 18]

(d On seemg the lion, he ran away.

(Make 1t a complex sentence)

ciek The students who are good do their homework

regularly. (Make it a szmple sentence)' '

(N '.Atul is the best boy in the class

(Change it mto posztwe degTee)

SECTION-D

(Text books 45 Marké)

10. Read the following : e_xtrects and answ_er the questions that
._follow : | . '
(a) "wa we’-Will count to twelve
and we W111 all ‘keep. stﬂl
For once on the face of the Earth
, Iet’s not s_p_eak._lln_ any .1angqage,
let’s. stop for one second,
and not meve our atm‘s so much.”
30T ENGL | o] - Contd.



‘Questions : o : _ I _
@) Who waits near the open window ? 1

(i)  How long does the poet want to stéjf shlle e . | i
| ' | (i) What does the person waiting near ‘the open
(i) Why does he ask us to keep still and not use any " e | _ window pray for ? s .

la_nguagé oot B e 2

i | . 11. An 'thré £ the following questions in 30-40 words : : :
(iii) What does the poet mean by ‘not move our arms G e Lo e - ' ;

so much’ ? = S 1 2"_3:6
OR - 3 . : | | (i) What is the rﬁessage that Keaté wants to convey thr'oﬁgh'
= ' “A Thing of Beauty” ? ' |
(b) | __“SOmetinies I feel myself I can hardly bear 4 _ el (i) | What do the young sprinting trees 51gmfy m the poem,

: 2l . y : ' 5 ) : s N alit 8 )
'The thought of so much childish longing in vain, e SIXtY i

The sadnes_s that lurks Hnear the open window there, | y (iii) Why has the rhother been compared to _th_e_ late winter’s
- That waits all day in almost dpen prayer ' o - ~moon’ in the poem, “My Mother at Sixty-Six” ?

For the squeal of brakes, the sound of a stopping car,” : -- ; S o . s

o Jih . o | (iv) What is the ‘sadness’ that the poet refers to in the poem
estions : e s ' o

.Q?‘ stions |  “Keeping Quiet” 7

(51 Whaﬁt'i_s" the ‘-chil_di_sh longing’ that the poet refers . S -

" to? Why isit il Sl o g il ' () What is ‘in the news’ as mentioned in the poem
' o an ' G o . | 2 Roadside _S{:and” ?
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12. " Answer any five of the following qli.estions 3

®)
©
@

©

(8

13. .Answer any five in 30-54:{) words :

(@

®

- 30TENGL

1x5=5

What accordmg to M Hamel is the great trouble W1th
Alsace P '

'Whﬁat does Mukesh want to become ?

Where was the original home of Saheb'sl-famﬂ.y?

Why was Gandhi visiting Lucknow in 1916 ?

For whom does Sophie ask Danny Casey an autograph ?

What work does Geoff do ?

What posmon did John Rowntree hoId before leaving

Sh1ﬂong a few days after Independence 2

'_ZX5=10

Why did Wachter, the bla.cksrmth tell Franz that he
Would reach school in ‘Plenty of tlme Rl '

lee a brief de_scﬁpﬁ(in of Seemapuri. |

12]

(c)

(d)

(e)

(g)

14. Answer any one of the foilowmg quesﬁons in 80-100 words :

@)

Was Saheb happy with his job at the tea stall ?

Why was Professor Malkani’s action of offering shelter

to Gandhi “extraordinary’ ?

What other dreams does Sophie have besides having a
boutique ? i |
Why was Sophie 'fascina't'ed_ by Danny Casey ? Was it a

one-sided affair ? Ll U412 _

Write, in brief, the scene observed by the author from

the veranda of his bungalow on the bank of the

Brahmaputra.

- 5x1=5

How does M. Hame}; make the people realize how they;
the students and he have been respon51b1e for not

learning the1r language well 2
oe

Wr1te brleﬂy on the hazard of Workmg in the glass i

o banglecs 1ndustry

- 30T ENGL
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15. ~ Answer any one of the following questions in 125-150 words :

(@)

7x1=7

Compare and contrast the stories of Zitkala\-_S'a and

Bama.

OR

(b)  Give an elaborate account of the celebration associated

16.. Answer any four of the following questions in 30-40 words :

@

®

(©

d

- 30T ENGL-

w1th Uruka, the impb_rtant part of Magh Blhu '

2x4=8

‘How did the hundredth tiger take its re_vengé on the
- tiger king ? ' |

Why did the messenger come to Dr. Sadao ?

How did Mr. Lamb try tb_ give courage and confidence
to Derry ? '

Why did it take Bama to reach home in 30 minutes
- instead of 10 minutes? ey ' |

Qe

€)

30T ENGL

How did Annan explain the elder man’s action to

- Bama ?

What are the different sports held on the occasion of
Magh Bihu or Maghar Domahi ?

[15]
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Q. No. 11 carries 4 marks each et ) e

; Q No. 12 carries 3 marks each : 3x2 = 6
Q. No. 13 carries 1 mark each ' 1x6 = 6

Q. No. 14 carries 2 marks each © 2x4 = 8

Q. No: 15 carries 10 marks each ot - 0

Total =100
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